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QUESTION 1

What is one of the limitations of traditional Antivirus when compared to Next Generation Antivirus? 

A. Traditional AV does not need a client installed on the machines to function 

B. Traditional AV focuses on signature or definition based threats 

C. Traditional AV requires integration with a SIEM to use the next generation features 

D. Traditional AV does not provide a dashboard 

Correct Answer: B 

 

 

QUESTION 2

Which would require a Layer 7 Firewall? 

A. block a specific port 

B. block a subnet range 

C. block a host 

D. block a specific application 

Correct Answer: D 

 

 

QUESTION 3

VMware\\'s Intrinsic Security layer includes functionality for which control points? 

A. networks, workloads, endpoints, identity, and clouds 

B. applications, workloads, devices, identity, virtual infrastructure 

C. networks, containers, devices, users, and VMware Cloud 

D. applications, users, networks, data center perimeter, vSphere 

Correct Answer: A 

Reference: https://www.globalknowledge.com/en-gb/resources/articles/what-is-intrinsic-security 

 

QUESTION 4
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What is the default user\\'s network range when creating a new access policy rule in Workspace ONE Access? 

A. 10.0.0.0/8 

B. ALL RANGES 

C. 192.168.0.0/16 

D. LOCAL SUBNET 

Correct Answer: B 

 

 

QUESTION 5

In VMware Carbon Black Cloud, what is the search field you would use when searching for a command line? 

A. command_line: 

B. full_cmdline: 

C. process_cmdline: 

D. process_commandline: 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-Carbon-Black-Cloud/services/carbon-black-cloud-user-guide.pdf (29) 

1V0-81.20 Practice Test 1V0-81.20 Study Guide 1V0-81.20 Braindumps

Powered by TCPDF (www.tcpdf.org)

1V0-81.20 Practice Test | 1V0-81.20 Study Guide | 1V0-81.20 Braindumps                                3 / 3

https://www.geekcert.com/1v0-81-20.html
https://www.geekcert.com/1v0-81-20.html
https://www.geekcert.com/1v0-81-20.html
http://www.tcpdf.org
https://www.geekcert.com/1v0-81-20.html
https://www.geekcert.com/1v0-81-20.html
https://www.geekcert.com/1v0-81-20.html

